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[PERCENTAGE rjtPjk;] Work Sheet  
 

The word “Percent” can be understood as “per 100” or “out of 100”. 
Percentage in itself is a dimensionless number used to tell how many parts 
per hundred are being considered. It is often denoted using the percent 
sign, “%”. The reference point for calculating percentage is taken as 100.  
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PERCENTAGE FORMULAS 

1.  

2.  

3.  

4. Percentage Increase or decrease 

  

APPRECIATION & 
DEPRECIATION [cah;T kw;Wk; 

tPo;r;rp] 
The growth or Appreciation a.: After 
„n‟ years 
kf;fs; njhif tsh;r;rp (m) 
tpiyNaw;wk;  n Mz;LfSf;F gpwF

 

After „n‟ years Depreciation tPo;r;rp 
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1. If we start with a quantity A and increase that quantity by x%, we will get the 
increased quantity as, 

               1
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ehk; A vd;w msit x% mjpfhpj;jhy;> mjpfhpf;Fk; msthf ehk; ngWtJ>                   
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2. If we start with a quantity A and decrease that quantity by x%, we will get the 

decreased quantity as, 
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ehk; A vd;w msit x% Fiwe;jhy;> FiwAk; msthf> ehk; ngWtJ>  
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Given any two numbers, if one of them is increased or decreased by x% and the other 

one is increased or decreased by y%, then the product of the number will be increased 

or decreased by %
100

xy
x y

 
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 
. Use „negative‟ sign for decrease and assume „decrease‟ 

if the sign is negative. 

nfhLf;fg;gl;l vz;zhdJ Kjypy; x% mjpfhpf;fg;gl;L my;yJ Fiwf;fg;gl;L> gpwF 

y% mjpfhpf;f my;yJ Fiwf;fg;gl;lhy;> me;j vz; %
100

xy
x y

 
  

   
mjpfhpf;Fk; my;yJ 

FiwAk;. Fiwtpw;F '-' FwpaPl;ilg; gad;gLj;jTk;. mNjNghy; '-' FwpaPlhdJ ,ilapy; 
,Ue;jhy;> mjidf; FiwT vdf; nfhs;sTk;.  

  

The growth or Appreciation a.: Before  „n‟ years or „n‟ years ago 
kf;fs; njhif tsh;r;rp (m) tpiyNaw;wk; n Mz;LfSf;F Kd;G 
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WORKSHEET 
 

 

1. If the price of Orid dhall after 20% increase is ₹96 per kg, find the original 
price of Orid dhall per kg. 
a. 60   b. 70   c. 100   d. 80 
20% tpiy cah;tpw;Fg; gpd; xU fpNyh cSe;jk; gUg;gpd; tpiy 96 vdpy:> 
mjd; mjd; mry; tpiy vd;d?  
a. 60   b. 70   c. 100   d. 80 

 

2. If the population in a town has increased from 20000 to 25000 in a year, find 
the percentage increase in population. 
a. 20%  b. 30%   c. 25%  d. 35%  
xU efuj;jpd; kf;fs;njhif> Xh; Mz;by; 20000 ,ypUe;J 25000 Mf 
mjpfhpj;Js;sJ. vdpy;> kf;fs;njhif mjpfhpg;Gr; rjtPjj;ijf; fhz;f.  
a. 20%  b. 30%   c. 25%  d. 35%  
 

3. A number is increased by 22 ½ % and gives 98.  The number is  
a. 45   b. 18   c. 80   d. 81 
xU vz;iz 22 ½ % cah;j;Jk; NghJ 98 fpilf;fpwJ vdpy; me;j vz; 
a. 45   b. 18   c. 80   d. 81 
 

4. A shopkeeper discarded 40% of the oranges he bought and still has 420 
oranges. The number of oranges that he bought was: 
a. 500   b. 600   c. 700   d. 800 
XU filf;fhuh; 40 rjtPjk; MuQ;Rg; goq;fis xJf;fpa gpd;G> mthplk; kPjk; 
420 MuQ;Rg; goq;fs; ,Ue;jd. me;j filf;fhuh; vj;jid MuQ;Rg; 
goq;fis thq;fpdhh;? 
a. 500   b. 600   c. 700   d. 800 
 

5. Price of an article is increased by 3%. Had it been ` 16 less, price would have 
been decreased by 1% of the original price. Find original price of the article. 
a. ` 400  b. ` 500   c. ` 800  d. ` 1600 
xU nghUspd; tpiy 3% cah;j;jg;gl;lJ.  ,J &.16 Fiwthf 
,Ue;jpUe;jhy;> tpiyahdJ Muk;g tpiyapy; ,Ue;J 1 rjtPjk; 
Fiwe;jpUf;Fk;. Me;jg; nghUspd; Muk;g tpiyiaf; fz;Lgpbf;fTk;. 
a. ` 400  b. ` 500   c. ` 800  d. ` 1600 
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6. If As income is 20% less than B's income, then how much percent is B's 
income more than A's income  
a. 10%                     b.  15%  c. 20%  d. 25% 
A ,d; tUkhdk; B ,d; tUkhdj;jpy; 20% FiwT vdpy; B ,d;  tUkhdk; 
A ,d; tUkhdj;ij tpl vj;jid rjtPjk; mjpfk;  
a. 10%                     b.  15%  c. 20%  d. 25% 
 

7.  900 boys and 600 girls appeared in an examination of which 70% of the boys 
and 85% of the girls passed out in the examination. Find the total percentage 
of students who did not pass. 
a. 12%  b. 25%  c. 24%  d. 20%  
xU Njh;it 900 khzth;fSk; 600 khztpfSk; vOjpdhh;fs;. me;jj; Njh;tpy; 
70% khzth;fSk; 85% khztpfSk; Njh;r;rp ngw;wdh; vdpy;> Njh;r;rp ngwhj 
khzt> khztpfspd; rjtPjj;ijf; fhz;f.  
a. 12%  b. 25%  c. 24%  d. 20%  
 

8. If x% of 600 is 450 then, find the value of x. 
a. 60   b. 75   c. 90    d. 105  
600 ,d; x% vd;gJ 450 vdpy;> x ,d; kjpg;igf; fhz;f.  
a. 60   b. 75   c. 90    d. 105  
 

9. When a number is decreased by 25% becomes 120. Find the number. 
a. 200   b. 180   c. 150   d. 160  
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy;> me;j 
vz;izf; fhz;f.  
a. 200   b. 180   c. 150   d. 160  
 

10. What rate per cent is 1 minute 12 second to an hour? 

a. 1%   b. 2%  c. 3%   d. 4% 
xU epkplk; 12 tpdhbfs; vd;gJ xU kzpapy; vj;jid rjtPjk;? 
a. 1%   b. 2%  c. 3%   d. 4% 
 

11. If x% of y is equal to z, Then what percent of z is x? 

     a. 
2

100

y        b. 
2100

y
  c. 100

y
  d. 

2100

y  
yd; x% rjtPjkhdJ zf;F rkk; vdpy; x vd;gJ z-y; vj;jid rjtPjk;?  

     a. 
2

100

y        b. 
2100

y
  c. 100

y
  d. 

2100

y  
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12. If 50% of (x-y) = 30% of (x+y) then what percent of x is y?   
     a. 25%  b. 50%   c. 75%   d. 100% 
    (x-y) d; 50% = (x+y) d; 30%vdpy; x-y; y-d; rjtPjk; vd;d? 
     a. 25%  b. 50%   c. 75%   d. 100% 

 

13. After spending 40% of amount in purchase of raw material and 25% in 
production charge an organization had a balance of Rs. 2800. The initial 
amount the organization had was: 
a. 7000   b. 8500  c. 7500  d. 8000 
xU epWtdj;jpy; 40 rjtPj njhifia %yg;nghUl;fs; thq;Ftjw;Fk; kw;Wk; 
25 rjtPj njhifia cw;gj;jp nrytPdj;jpw;Fk; gad;gLj;jpa kPjKs;s 
njhif &.2800 vdpy; me;epWtdk; nfhz;bUe;j nkhj;j njhif vt;tsT? 
a. 7000   b. 8500  c. 7500  d. 8000 

 

14. A man loses 20% of his money. After spending 25% of the remainder, he has 
`480 left. What is amount of money he originally had? 
a. `600    b. `720  c. `800  d. `840 
xU egh; jd;dplk; cs;s gzj;jpy; 20 rjtPjj;ij ,of;fpwhh;.  kPjpAs;s 
gzj;jpy; 25 rjtPjj;ijr; nryT nra;jgpwF> mthplk; &.480 ,Uf;fpwJ.  
mthplk; Muk;gj;jpy; ,Ue;j njhif vt;tsT? 
a. `600    b. `720  c. `800  d. `840 

 

15. 75% of a number when added to 75, becomes the number itself. Find the 
number 
a. 150  b. 200   c. 225  d. 300 
xU vz;zpd; 75% cld; 75If; $l;bdhy; me;j vz; fpilf;Fk; vd;why; 
me;j vz;izf; fz;Lgpb 
a. 150  b. 200   c. 225  d. 300 

 

16. The boys and girls in a college are in the ratio 3 : 2. If 20% of the boys and 
25% of the girls are adults, the percentage of students who are not adults is 
a. 67.5%  b. 82.5%  c. 78%  d. 58% 
xU fy;Y}hpapy; khzth;fSk;> khztpfSk; 3 : 2 vd;w tpfpjj;jpy; cs;sdh;. 
mth;fSs; 20% khzth;fSk;, 25% khztpfSk; taJ te;Njhh; vdpy; taJ 
te;Njhh; my;yhj khzth;fspd; rjtPjk; ahJ? 
a. 67.5%  b. 82.5%  c. 78%  d. 58% 
 

17. A spends 90% of his salary and B spends 85% of his salary. But savings of 
both are equal. Find the income of B, if sum of their incomes is Rs. 5000. 
a. Rs. 3000  b. 2000  c. 1000  d. 2500 
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A vd;gth; mtuJ rk;gsj;jpy; 90% -k; B vd;gth; mtuJ rk;gsj;jpy; 85% k; 
nrytopj;jdh;. Mdhy; mth;fspd; Nrkpg;G rkkhd njhif. mth;fspd; 
rk;gsj;jpd; $Ljy; &.5000 vdpy; B-d; rk;gsk; vd;d? 
a. Rs. 3000  b. 2000  c. 1000  d. 2500 
 

18. In an examination, A gets 20% less marks than B, B gets 30% marks less than 
C. If A gets 112 marks, find marks obtained by C.  
a. 150   b. 190  c. 200   d. 250 
xU Njh;tpy;> BI tpl A 20 rjtPj kjpg;ngz;fs; Fiwthfg; ngWfpwhh;. CI 
tpl B 30 rjtPj kjpg;ngz;fs; Fiwthfg; ngWfpwhh;.  A ngw;w 
kjpg;ngz;fs; 112 vdpy;> C ngw;w kjpg;ngz;fs; vj;jid? 
a. 150   b. 190  c. 200   d. 250 
 

19. If the numerator of a fraction is increased by 15% and its denominator is 

diminished by 8%, then the value of the new fraction is 
15

16
. Find the original 

fraction. 

a. 
1

4
  b. 

3

4
   c. 

3

16
  d. 

15

4
 

xU gpd;dj;jpd; njhFjpahdJ 15% mjpfhpf;fg;gl;L mjd; gFjpahdJ 8% 

Fiwf;fg;gl;L tUk; gpd;d kjpg;G 
15

16
 vdpy;> njhlf;f gpd;dk; vd;d? 

a. 
1

4
  b. 

3

4
   c. 

3

16
  d. 

15

4
 

 

20. A student multiplied a number by 3/5 instead of 5/3. What is the percentage 
error in the calculation?    

    a. 64%      b. 54%        c. 44%    d. 34% 
xU khztd; Xh; vz;iz 5/3 My; ngUf;Ftjw;F gjpyhf 3/5-My; 
ngUf;fpdhy; mtDila gpioapd; rjtPjk; vd;d? 

    a. 64%      b. 54%        c.  44%    d. 34% 
 

21. A student has to score 40% marks to pass. He gets 178 marks and fails by 22 
marks. The maximum mark is 
a. 500  b. 600   c. 1000  d. 350 
xU khztd; Njh;r;rp ngw 40% kjpg;ngz;fs; vLf;f Ntz;Lk;. mtd; 178 
kjpg;ngz;fs; ngw;W 22 kjpg;ngz;zhy; Njhy;tpAw;whd;. mg;gbnadpy; kPg;ngU 
kjpg;ngz;fs;  
a. 500  b. 600   c. 1000  d. 350 
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22. A candidate who gets 30% of the marks in a test fails by 50 marks. Another  
candidate who gets 320 marks fails by 30 marks. Find the maximum marks? 
a. 500  b. 200   c. 1000  d. 350 
xU khztd; 30 rjtPjk; kjpg;ngz; ngWfpwhd;> Mdhy; 50 kjpg;ngz;zpy; 
Njh;r;rp ,oe;jhd;. me;j tFg;gpy; kw;nwhU khztd; 320 kjpg;ngz; ngw;W> 30 
kjpg;ngz;zpy; Njh;r;rp ,oe;jhd;. mjpfgl;r kjpg;ngz; vt;tsT? 
a. 500  b. 200   c. 1000  d. 350 

 

23. A candidate scores 25% marks in an examination and fails by 60 marks, 
while an another candidate who scores 50% marks gets 40 marks more than 
the minimum required passing marks . Find the pass marks percentage. 
a. 33%  b. 35%  c. 38%  d. 40% 
A vd;gth; 25% kjpg;ngz;fs; ngw;W 60 kjpg;ngz;fs; Fiwtpdhy; 
Njhy;tpAw;whh;. B vd;gth; 50% kjpg;ngz;fs; ngw;W mth;fs; Njh;r;rp ngw 
Ntz;ba kjpg;ngz;iztpl 40 kjpg;ngz;fs; mjpfkhf ngw;whh;. vdpy; 
mth;fspd; Njh;r;rp tpOf;fhL. 
a. 33%  b. 35%  c. 38%  d. 40% 
 

24. In an election between two candidates one got 55% of the total valid votes, 
20% of the votes were invalid. If the total votes were 7,500, what was the 
number of valid votes that the other person got? 
a. 2700  b. 2900  c. 3000  d. 3100 
,U Ntl;ghsh;fSf;fhd Njh;jypy;> nkhj;jk; nry;Yk; Xl;Lfspy; 55% 
xUtUf;Ff; fpilf;fpwJ. 20% Xl;Lfs; nry;yhjit> nkhj;j xl;Lfspd; 
vz;zpf;if 7>500 Mdhy; kw;w Ntl;ghsh; ngw;w nry;Yk; Xl;Lfspd; 
vz;zpf;if  
a. 2700  b. 2900  c. 3000  d. 3100 

 

25. The population of a town is 176400. It increases at 5% per annum. What will 
be its population after 2 years? Two years ago? 
a. 160000 &  194400     b. 194481 & 160000   
c. 194040 & 160000      d. none 
xU efuj;jpd; kf;fs;njhif 176400. xt;nthU Mz;Lk; 5% mjpfhpf;fpwJ 
vdpy; ,uz;lhz;LfSf;F gpwF me;efuj;jpd; kf;fs;njhif vt;tsT? 
,uz;lhz;LfSf;F Kd;G? 
a. 160000 &  194400     b. 194481 & 160000   
c. 194040 & 160000      d. none 
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26. The value of a machine depreciates at the rate of 10% every year. What was 
the value of the machine two years ago if its present value is Rs. 81000? 
a. 160000  b. 194481  c. 65,610  d. 1,00,000 
xU ,ae;jpuj;jpd; kjpg;G Mz;Lf;F 10 rjtPjk; FiwfpwJ. me;j 
,ae;jpuj;jpd; jw;Nghija kjpg;G &.81000 vdpy; ,uz;lhz;LfSf;F Kd;G 
mjd; tpiy vt;tsT? 
a. 160000  b. 194481  c. 65,610  d. 1,00,000 

 

27. The population of a town was 48600. It increased by 25% in the first year and 
decreased by 8% in the second year. What will be the population of the town 
at the end of two years?    
a. 65610 b. 55580  c. 60750  d. 55890 
xU efuj;jpd; kf;fs;njhif 48600. Kjy; tUlj;jpy; 25 rjtPj  
kf;fs;njhif mjpfhpf;fpwJ> ,uz;lhtJ tUlj;jpy; 8 rjtPjk; FiwfpwJ 
vdpy; ,uz;lhz;LfSf;F gpwF me;efuj;jpd; kf;fs;njhif vt;tsT? 
a. 65610 b. 55580  c. 60750  d. 55890 
 

28. Salary of a person is increased by 20% then it is decreased by 20%. Change in 
his salary is:  
a. 4% decreased       b. 4% increased   
c. 8% decreased     d. remains same  
xU eghpd; Cjpak; 20 rjtPjk; mjpfhpf;fpwJ.  gpwF mJ 20 rjtPjk; 
Fiwf;fg;gLfpwJ.  mtUila Cjpaj;jpy; Vw;gLk; khw;wk; vd;d? 
a. 4% decreased       b. 4% increased   
c. 8% decreased     d. remains same  

 

29. If the price of a book is first decreased by 25% and then increased by 20%, 
then the net change in the price will be : 
a.  No change     b. 5% increase   c. 5% decrease d. 10% decrease 
Gj;jfj;jpd; tpiy Kjypy; 25% Fiwe;J gpd;G 20% mjpfhpf;fpwJ vdpy; 
mjd; tpiyapy; Vw;gLk; rjtPj khw;wk; vt;tsT? 
a.  No change        b. 5% increase   
c. 5% decrease            d. 10% decrease 

 

30. If each side of a square is increased by 20%, its area is increased by________. 
a. 40%  b. 42%  c. 44%  d. 46% 
xU rJuj;jpd; gf;fq;fs; 20% mjpfhpf;fg;gl;lhy;> mjd; gug;G vj;jid 
tpOf;fhL mjpfhpf;Fk;? 
a. 40%  b. 42%  c. 44%  d. 46% 


